(Materials Requirement Planning)

Il. MRP
A.
1. MPS
1 2
405 435
1 2 3 4 5 6 7 8
Al 20 | 30 | 30 | 25 | 25 | 35 | 30 | 25
Bl 40 | 45 | 40 | 35 | 45 | 45 | 50 | 40
Cl 45 | 30 | 35 | 30 | 35 | 40 | 35 | 30
AB,C 20,35 30
50,60 70 A,B,C 50,80 70
1 2 3 4 5 6 7 8
20 30 30 25 |25 35 |30 |25
50 [30 50 20 45 |20 |35 |55
0 50 |0 50 o 50 [50 o
30 50 [20 45 20 35 |55 |30
40 |45 |40 |35 |45 |45 |50 |40
80 40 |55 |75 40 |55 |70 |80
0 60 |60 o 60 60 |60 |0
40 |55 |75 |40 |55 |70 |70 |40
45 30 35 30 35 |40 |35 |30
70 o5 65 30 |70 35 |5 |30
70 o 0 70 o 70 o 70
9% 65 [30 |70 |35 65 |30 |70
1 2 3 4 5 6 7 8
A 50 50 50 | 50
B 60 | 60 60 | 60 | 60
C| 70 70 70 70




2. BOM (BIll of materials)

a. singlelevel BOM
A B C E
B(1) D(1) G(D) H(2)
C(2 E (2 F(1) F(1)
b. multi level BOM
A
B(1)
D(1)
E(2)
H(1)
F(1)
C(2)
G(1)
F(2)
c. structuretree

B(1)

C(2)

D(1) E(2) G(1)

H(1) F(1)

3. Inventory File

1. MRP

2.MRP

MRP

F(1)




7 8 9 10 11 12
0 50 0 20 100
P
| |
Al1(1) A2(2)
| |
B1(1) C1(1) C2(2) C3(1)
C1(1)
P 1 50
Al 2 20
A2 2 20
Bl 1 5
C1 3 10
C2 2 0
C3 1 0
solution
0
| |
1 A1(1) A2(2)
| |
2 B1(1) C2(2) C3(1)
C1(1)
3 C1(1)




P 0 6 7 8 9 10 |11 |12
50 20 100
(50) 0 0 0
0 20 100
(1) 20 100
Al 6 |7 |8 9 |10 |11 |12
20 100
(20) 0 0
0 100
(2 100
A2 6 |7 |8 9 |10 (11 |12
40 200
(20) 0 0
20 200
(2) 20 200
Bl 6 7 8 9 10 11 |12
100
(5) 0
95
(1) 95
c2 6 |7 |8 9 |10 (11 |12
40 400
0) 0 0
40 400
(1) 40 400




C3 2 1 2 3 |4 |5 6 |7 8 |9 |10 |11 |12
20 200
(0) 0 0
20 200
1) 20 200
c1 31 2 3 |4 |5 6 |7 8 9 |10 |11 |12
20 200 (100
(10) 0 0 |0
10 200 |100
(©) 10 200 |100
C.
1I. MRP
A.
eg. MRP
1 2 3 5 6 7 8 9 10
0 30 | 40 10 | 40 | 30 0 30 | 55
2 27 200
( )
112 3|4|5|6|7|8]9]10
0 |30]40| 0 |10 |40 | 30| 0 | 30| 55
30 40| 0 | 10| 40| 30| 0 |30 |5 0
=200x7=1400( )
B.
eg.
Q*:\/st:\/2x27x200 -7
h
112 | 3|4|5|6|7|8]9]10
0 |30]|40| 0 |10 |40 | 30| 0 | 30| 55
74 74 74 74
0 |44 4| 4 | 68|28 | 72| 72| 42|61

=200%x4+2x(44+4+4+68+28+72+72+42+61)=800+790=1590




C.

EOQ D EOQ
(D/EOQ) ( 52/(D/EOQ))
eg. EOQ=714 27 27x52=1404
1404/74~19 52/19=2.73
1/ 2]3|4|5|6|7]8]|9]10
0 |30]40| 0 |10| 40|30 | 0 | 30|55
70 80 85
0|4 0| 0|70|3] 0| 0/|5] 0
=200x3+2x(40+70+30+55)=600+390=990
D. Silver-Meal (SM )
eg.
2 30 200 200
2,3 70 280 140
2,3,4. 70 280 93.33
2345 ) 80 340
2,3,4,5,6 120 660 132
6 40 200 200
6,7. 70 260 130
6,7.8( ) 70 260 86.67
6,7,8,9 100 440 110
9 30 200 200
910( ) 85 310 155
1|2 ]3|4|5|6|7]8]|9]10
0 |30]/40| 0 |10 40|30 | 0 | 30|55
80 70 85
0 |50[10/10| 0[30] 0| 0|5 0

=200x3+2x(50+10+10+30+55)=600+310=910

(set up cost)

6

(holding cost)



(economic part period EPP)=

EPP
eg.
EPP=200/2=100

2 30 0 0 0 0

2,3 70 40 1 40 40

2,34. 70 0 0 0 40

2345 ) 80 10 3 30 70

2,3,4,5,6 120 40 4 160 230

6 40 0 0 0 0

6,7 70 30 1 30 30

6,7,8. 70 0 0 0 30

6,789( ) 100 30 3 90 120
12| 3|4 |56 | 78] 9]10
O |30/,40] 0 [10,40]30]| 0 |30]5
80 100 55
O |50,10]120| 0 |60[30|3] 010

=200x3+2x(50+10+10+60+30+30)=600+380=980
IV MRP
A. (regnerative approach)
B. (net-change)
V MRP (detailed capacity planning)







